Doppelhaushalite

HAUS A + B | Erdgeschoss

Gesamtflache Haus A: 190,06 m? | Gesamtfliche Haus B: 189,39 m?

S WfL:59 m?

Sondernutzungs-
recht - Gartenanteil

Flur

en

/

1

e

WfL.: 23,2 m?

—

i

—

LS LS LS LS
TTT TTT == TTT T
A —
Terrasse [ 1 [ 1 -- [
e Wfl.: 20,3 m? RN
ES . ) EiS
. mp A mjEa .
- Kochen/Essen e
* *
| :/ 3/3 Terrasse

<2

- - - -
| N / | | N s |
\ \ \ \
\ | | | ‘ \ i
= S e s | S e s § — 1 i
Terrasse Terrasse
L |
Sondernutzungsrecht L
- Gartenanteil N
\ LY
L
I 5 |
| -




Doppelhaushalite

HAUS A + B | 1. Obergeschoss
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